EXERCISE (O-1)
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=Y, where C(,C,,C, are all real, the equation C,x* + C,x + C, =0 has :
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(A) atleast one root is (0,1)

(B) one root is (1,2) & other is (3.4)

(C) one root is (—1,1) & the other is (-5,-2)
(D) both roots imaginary

12. The value of the definite integral J.((x +1)e* .(’nx)dx is -
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14 The value of the definite integral I ({x}2 +3(sin 21tx))dx where { x } denotes the fractional part
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function.
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fg (x) is the inverse of f (x) and f (x) has domain x € [1, 5], where f(1)=2and f(5) = 10 then the
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1;'7// The value of the deﬁmte integral j( x(3-x)(4+x)(6-x)10-x)+sin x) dx equals-
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20. The true solution set of the inequality, V5x =6 x? +(5 jdz} > X _[ sin’ xdx 1
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21. Let] = Ie“ sin(x)dx;1, = je" dx;1, = Ie'“ (1+X)dx
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and consider the statements
I I <] nm I,<l m I,=1
Which of the following is(are) true ?
(A)Tonly (B) Il only
(C) Neither I nor II nor [11 (D) Both 1 and 11
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Where {.} denotes the fraction part function.
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(D) does not exist
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